RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Nominating Representative Frances G. Antone to the Indian Reservation Roads Program Coordinating Committee)

RESOLUTION NO. 09-476

1	MUTCHEAC	the Tabona O'adham I acidative Conneil is vested with the newer to consult "federal
	WHEREAS,	the Tohono O'odham Legislative Council is vested with the power to consult "federal
2		agencies regarding federal activities that affect the Tohono O'odham Nation" and to
3		pass resolutions "to promote, protect, and provide for public health, peace, morals,
4		education and general welfare of the Tohono O'odham Nation and its members"
5		(Article VI, Section 1(f) and 1(c)(2) of the Constitution of the Tohono O'odham Nation);
6		and
7	WHEREAS,	the Indian Reservation Roads ("IRR") Program Coordinating Committee provides
8		"input and recommendations to BIA and FHWA in developing IRR Program policies
9		and procedures" and supplements "government-to-government consultation by
10		coordinating with and obtaining input from tribes, BIA, and FHWA" (25 C.F.R.
11		§170.155(a)); and
12	WHEREAS,	the Coordinating Committee consists of 12 tribal regional representatives (one from
13		each BIA Region), with one alternate tribal member for each regional representative,
14		provided that each "tribal representative must be a tribal governmental official or
15		employee with authority to act for the tribal government" (25 C.F.R. §170.155(b)); and
16	WHEREAS,	Natural Resources Committee member Frances G. Antone was nominated in March
17		2008 to serve as the IRR Coordinating Committee Western Region tribal
18		representative, but she was not appointed until February 2009 and will therefore only
19		serve in that capacity for seven months (Resolution No. 08-150); and
20	WHEREAS,	due to her expertise in, commitment to, and advocacy for tribal transportation,
21		Representative Frances G. Antone should be appointed to serve a full term on the IRR
22		Coordinating Committee.
23	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council hereby:
24		(1) Nominates Representative Frances G. Antone, who is a tribal governmental official
25		with authority to act for the tribal government, to serve as the IRR Coordinating
26		Committee Western Region tribal representative.
27		(2) Requests that the Secretary of the Interior appoint Representative Frances G.
28		Antone to serve as the IRR Coordinating Committee Western Region tribal
29		representative.
30	BE IT FURT	HER RESOLVED that the nomination made by this resolution shall supercede and
31		replace any previous Legislative Council nominations to the IRR Coordinating
32		Committee.
33	BE IT FINA	ALLY RESOLVED that an appointment made pursuant to this resolution shall
		I

RESOLUTION NO. 09-476 (Nominating Representative Frances G. Antone to the Indian Reservation Roads Program Coordinating Committee) Page 2 of 3 1 immediately expire if the appointee is no longer serving on the Legislative Natural 2 **Resources Committee for any reason.** 3 The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 02ND. Day 4 of SEPTEMBER, 2009 at a meeting at which a quorum was present with a vote of 1,433.45 FOR; 5 957.35 AGAINST; 204.7[04] NOT VOTING; and [02] ABSENT, pursuant to the powers vested in the 6 Council by Section 1 (f) and (i) of Article VI of the Constitution of the Tohono O'Odham Nation, 7 adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy 8 Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act 9 of June 18, 1934 (48 Stat. 984). 10 **TOHONO O'ODHAM LEGISLATIVE COUNCIL** 11 12 13 14 erlon M. Jose, Legislative Chairman 15 16 day of . 2009 17 18 19 ATTEST: 20 21 **Evonne Wilson, Legislative Secretary** 22 23 . 2009. 24 day of. 25 Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham 26 Nation on the 3rd day of $\Delta e_{\mu} t$, 2009 at 12:36 o'clock, β .M., 27 pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective 28 29 upon his approval or upon his failure to either approve or disapprove it within 48 hours of 30 submittal. 31 32 TOHONO O'ODHAM LEGISLATIVE COUNCIL 33 34 Muner 35 Verlon M. Jose, Legislative Chairma 36 37 38 39 APPROVED 40 day of 41 **[] DISAPPROVED** o'clock. 42 43 44 45 NED NORRIS. IR., CHAIRMAN 46 47 **TOHONO O'ODHAM NATION**

RESOLUTION NO. 09-476 (Nominating Representative Frances G. Antone to the Indian Reservation Roads Program Coordinating Committee) Page 3 of 3

Returned to the Legislative Secretary on the 🔏 day of

_, 2009, at <u>1:39</u> o'clock, <u>p</u>.M.

Evonne Wilson, Legislative Secretary

ACTION: NOMINATING REPRESENTATIVE FRANCES G. ANTONE TO THE INDIAN RESERVATION ROADS PROGRAM COORDINATING COMMITTEE

MOVED: COUNCILWOMAN LORRAINE EILER

SECOND: COUNCILWOMAN GLORIA RAMIREZ

DATE: SEPTEMBER 02, 2009

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENI
SIF OIDAK	1. WAVALENE ROMERO (Nicholas Jose)	99.35	x			
198.7	2. MARY LOPEZ	99.35	х			
SELLS	1. KIMBERLY LISTO	224.80		x	x	
449.6	2. EVELYN B. JUAN MANUEL	224.80		x		
SCHUK TOAK	1. FRANCES B. CONDE (Fredrick Jose)	79.50	х			
159.0	2. LINDA PARLEY (Agnes Joaquin)	79.50	x			
SAN XAVIER	1. FELICIA NUÑEZ	102.35			x	
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	102.35			X	
SAN LUCY	1. LORRAINE EILER	93.55	x			
187.1	(Charlotte Cadavas) 2. GLORIA RAMIREZ ()	93.55	Х			
PISINEMO	1. CHESTER ANTONE	92.25	х			
184.5	(Tony Murrietta) 2. EDWARD MANUEL (Gerald Fayuant)	92.25	X			
HICKIWAN	1. MICHELLE ORTEGA	87.25		x		
174.5	() 2. SANDRA ORTEGA ()	87.25		x		x
GU VO	1. GRACE MANUEL	103.15		x		
206.3	() 2. PAMELA ANGHILL (Angela Ortiz)	103.15	Х			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05		x	x	
230.1	2. CYNTHIA E. MANUEL	115.05		x		
CHUKUT KUK	1. ETHEL GARCIA	138.50	х			
277.0	(Sara Mae Williams) 2. VERLON M. JOSE ()	138.50	X			x
BABOQUIVARI	1. FRANCES MIGUEL	162.0	x			
324.0	(Roberta Harvey) 2. FRANCES G. ANTONE ()	162.0	Х			
	2,595.50	1,433.45	957.35	204.7 [04]	[02]	